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The figures in the margin indicate full marks
Jor the questions.

Part I (5 -9/)

Q. No. 1 (a-f) carries 1 mark each I'%6/= 46
Q. No. 2-7 carries 2 marks each ; DxOL=12
Q. No. 812 carries 4 marks each 4x5 =20
Q. No. 13 & 14 carries 6 marks each 6%x2 =12
Total = ?O
Part II (¥ -9<)

Q. No. 15 (a-f) carries 1 mark each I1x6= 6
Q. No. 16 -21 carries 2 marks each Ox0 =112
Q. No. 22 -26 carries 4 marks each 4x5 =20
Q. No. 27 & 28 carries 6 marks each 6x2 =12
Total =50

Total (Part I & II): 50+ 50 = 100
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PART A — & 9%

()~ Define service 1
IR FgeE aEl |
(b) ~Fill in the blank :

The allocation of resources and distribution of the

final goods and services are the central problems of any
economy. _ 1

VR TROA SIS B B3 SR G [eRd gE i)
wiife g S

(c)” What is a demand function ? 1

bifevl = & 2

(d)~ What happens to total product when marginal product is zero ?

; 1
2lifes TeoAE ey T o TAT = 2
(e) What does a vertical supply curve imply ? 1

Tod (@9 @4 F 9 2

)~ Why is average total cost (ATC) greater than average variable
cost .(AVC) ? ' 1

NG ARG Ie GTeE G o H 7 ufgw 2

"~ State the meaning of microeconomics and macroecconomics.

et weMife =i SR odmfer o i

Why does a budget line slope downward ? 2
ATl SO ({4 ST i 7 2

If the total utilities of 4 and S units of a commodity for a consumer
are 56 and 60 respectively, calculate the marginal utility of 4 unitg
of it for him. 2

[2]

o

10.
11.

12.

o T

THACSIS| GRS I € QRS 4 B 5 (9Ni5S o TAEIES @ 56 9k 60
B0 (969 AE TERGE 4 (3ii59 2lfess Tocifrel Fefa & |

State any two exceptions of the law of demand. ¢ 2

sifaw RiAceR R 7o fs@s B2l |

4

Define the term “long-run” as used in production. 2
Teoive SIS IaEe “Tdde 9 kel = |

State any two assumptions of the law of variable proportions.

AffaETiE Sl [RiEGE R 7o sitsyi=e i |

Distinguish between supply and stock. : : 4
GRSl N e A (FREq] | |

OR / 97241
Explain briefly any four factors affecting supply of a commodity.
@Ol A (ISEE deifis =1 RipiE sifE5 e [EE v R 4 |

Explain the law of supply with the help of a supply schedule.
- . 3 4 i

Gl SEPIb 1A FRITS (@ioie [iECG @i <= |

_State the relationship between average cost (AC) and marginal cost

(MC) using diagram. 4
g <re=iT S T T (AC) e @i @ (MC) F T Bl | y

State the distinction between explicit cost and implicit cost. Give

one example of each of them. DE2=4

2B B SIEMRS 7 sHiey Bl | dreoE @bl enizgel | -

Write down three characteristics of monopolistic competition. State
whether the output produced by a firm under such a market is
higher/lower than or equal to that of a firm under perfect
competition. Stl=4
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iR efferEs qare fomn @iy Fel g qeEE e afonn
Qe TeoiimeE AAfsie s eiferaifenme aEima aeny afewn gUTe wEe
S /B (I Al

OR / ©/24€1
“Monopoly firm is a price maker” — Explain.
G Al TR afev g VR FaEeial” — el = |

Explain the two basic conditions of consumer’s equilibrium assuming
that the consumer consumes only two goods. 6

GG (SIGIZ (e Vg ANl (ol T 61 40 (90T SEE i 6 761
I =4 |
OR / /%41

Explain the concepts of change in quantity demanded and change
in demand using suitable diagrams.

Toge fow age <R oifmE Afsids wARae o Hﬁr«ﬁ AfEa L=epR5]
<RGT <=9

14. The demand and supply functions of a firm under perfectly
competitive market are given below :
Q=200 — 2Pland
@ =100 'SP
Find (i) The equilibrium price and output
(ii) 1If due to increased cost, the supply function becomes
Q. =-200 + 3P, what will be the changes in equilibrium
Price and Output ? 3+3=6
=j<f eifecaifieres aad AR afev @ BifRal S QI e oe Uy
T L9 |
Q, = 200 — 2P 9=
@E=—100F 43P
() SRED v e e [efa i |
() R I A" @5 FE AW Q= —200 + 3P W, (OGERE SR 7y
i< wAfstics 5 offsady 29 2
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The total cost (TC) and prices (P) at different units of output of a
monopolist are given below :
(i) Find out the total revenue (TR), marginal revenue (MR) and

marginal cost (MC) schedules.
(ii) Find out the equilibrium quantity of output (6) (1+2+2)+1=6
QSRR GG IR T [feT (alf5q Fi@ o 0w (TC) B i (P) oo
e C=r=l
(i) I T (TR), 2lifes =g (MR) 9% @ifes /@ (MC) Swp! e 74 |
(i) TAMTE S AR (Q) Mo w4

Q TC P
1 20 'S
2 35 14
3 45 13
4 51 12
S S8 11
6 ({8 % 10
i 76 9
8 88 8
PART B — 4 9
15. (a) What is the alternative name of macroeconomics ? 1

R SR & s & 2

(b) ~What is the significance of the 45° line¢ in Keynesian income

determination model ? :
e S Rerviel oiifEe 45° @ICER iR & ¢

(c) What is.the value of MPC when MPS is zero ? 1
MPS $F S *of 205, MPC S 6 ¢

(d) What 1s foreign exchange rate ? ' 1

i [ 2w & 2
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18.

(e) What is meant by appreciation of the currency of a country ?

1
G (7S /IS S sEniEe e 5 gEid 2

trade ? 1

(f/ What is invisible
e AifGey oo
Give any two examples of macroeconomic variable. 2

el ST veea g 7o) Swizad |

State the concept of depreciation in the context of national income
accounting. 2

G S 91 27gors Semrae GEeics] @i |

If the margina'ﬂ propensity to save (s) of an economy is 0-3, find out
the value of the income multiplier. 2

I SIeEErS 4 2l weew emerel (s) 0-3 T, (SR BllF SO ey Tfeqe |

State any two measures of fiscal policy to correct the problem of
cxcess demand in an economy. 2

A% SITEIS SR biftwR el vE SR AT T [ 15 4E
et |

Give the concept of full cmployment equilibrium. 2

o TGIe! SR di=eiics! SR |

What is deficit financing ? - <

ﬂﬁﬁw%?

22. What are the four factors of production ? Write down the name of
the remuneration to each of them. 2+2=4
AV T 57/R5r B 9 Feq acoE wiifF=is<eg a )

23. Explain any four causes of disequilibrium in BOP. 4
CT-CreIS ST SIRAMGRINSIN Rtz b1/561 Fi=el =yl <=l |
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26.

.

OR / ©/3/<1

Distinguish between factor income and transfer income. 4

THAWING SF BN THIGH SIES e~y @& |

[t is planned to increase national income by 21,000 crore in an

economy. How much increase in investment is required to achieve
this goal if MPC = 0:6? B

@f> TR SIS 9 1,000 &I 56 Jfa S AfEEE $= ('l MPC

= 0-6 T OF FHO SAAle e [l e s gfa 29 a2

What is the meaning of government budget ? Distinguish between
revenuc receipts and capital receipts. 1+3=4

Saa] Alcete w7 2 e i oI el AR e ARy wydE |

Point out two merits and two demerits of indirect tax. 2+2=4

o 9 401 el S 75 (I SR

Explain the income method of calculating GDP. 6\
Y Tl ToA SR S Siwoce! Uil = |

OR /&<l
Explain the relationship between investment multiplier and MPC.
R wos o9 2ifess (ol ke STed A2 I < |

""'I‘Brieﬂy explain any four functions of a commercial bank. 6

Aifafgs @ [ 51/E6 i 53¢ Uil < |
OR /134l

Vé’s'cribe the speculative demand for money.

g FERIeeTS bifRnE [{aca el s
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